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Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Paper : GE-3 A
( Indian Economy )
1. oo fiar eprzd Teq fm - 1x8=8

Answer the following questions :

fa) TndTaq &7
What is liberalization?

(b) TR T % (%2
What is HDI?

(c) Rwe e & 2
What is poverty line?
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(2)

(d) Frey ToR 2@ o R gm?
What do you mean by infant mortality
rate?

fe) =R t3Erel e B @ e
What do you understand by income
inequality?

() SRS ARFIT TP @ 397 7S wYs 2

In which sector, maximum number of
labour force of India is involved?

(@) 0>> R I WS, SRS TS Iy
e

According to 2011 Census, what is the
density of population in India?

(h) MGNREGA 3 772 ®eCh! fora o
Write the full form of MGNREGA.,

2. wd R @Al R6A e ws vy R o (2
150 = fee3e) : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a) B SR NS
National population policy

(b) *R% W SCAfEE TREer
Absolute and relative poverty
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(3)

(¢ R = wReer
Growth and poverty
(d) =R R
Disguished unemployment
fe) IMER cFae ST AR TRRRT vom
Compare the rank of India and Taiwan
in trade
e PP e Ford (24fCH1 500 >R foese) :
Answer the following questions (within S00 words
each) :
3. (@) IR-FOCR IEC TRSY WL W
FRofrE S T 14
Discuss the condition of Indian economy
on the eve of Independence.
§R_1/ Or
(b) PRI I R T8 7 SRTS CGIFRPRIIR
AT o ST AR SACEG 4 1
2+12=14
What do you mean by globalization?
Discuss about the positive and negative
effects of globalization in India.
4. (o) SRS SPRIR SPIRIR IFERz & e
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HICATOAT 41 1 14

What are the demographic features of
Indian population? Discuss.
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(4)

Y7/ Or

(b) SRS TPRY (@ MR e A oo
Al 90|

Discuss the trend and composition of
population growth in India.

5. (a) SATS TREEl [EAHR AR 42 79 ReA
IRELIA v I 40 14
Explain the various measures taken by
the government to alleviate poverty
in India.

5§/ Or }
(b) SEST TR (ITWOR FRTHR WA 317 |
Discuss the causes of income inequality
in India.

6. (o) BomrE, w1 @Rw, am wR ©Rly
ST SIS BT 90 | 14
Give a comparative analysis about the

economies of Singapore, South Korea,
Taiwan and India.

5w / Or

‘ (b) LA TR T Feawegg, W R o
I HIRATCA SRETA FN TR 00 91 4

! Explain the measures taken by
Singapore, South Korea and Taiwan for

economic development of their respective
economies.
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Paper : GE-3 B
[ Economics (Macro) ]

1. woo fARRI RotrpfiR e fam - 1x8=8

Answer the following as directed :

(a) TER I WS T

The functions of money do not include

()
(i)
(i)

(iv)

Rt e

a medium of exchange

TR SIE

a store of value

A CrI-NeAR TN
a standard of deferred payment

T R

stability of value
(o TeTh1 IR Sorear )

( Choose the correct answer )

(b) &% TASPTW I X

High-powered money is
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i

(@)

T QLT FEW AT (YAl HATS

commercial bank’s reserve at
Central Bank

QT | M |/l
money held by banks
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()

(d)
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(6)

(i) SPIHRR TS F g WF (N
QTS (AR SAS

currency held by public and reserve
with the Central Bank

(iv) SR @Br8 7T
None of the above
(7 Teach a1k Bfovean )
( Choose the correct answer )
e T Tl PR I Begy w0 1

Mention the two components of financial
market.

o (P00 SIS R8T AfSdm T 2

Which of the following is not a
non-banking financial institution?

) oReH S R A

Industrial Development Bank of
India

(i) XSG T8 v e

Unit Trust of India

(i) o T @
Land Development Bank

(iv) “NER CBEH QT
Punjab National Bank

(o et TR e )

( Choose the correct answer)

( Continued )



(e)

0

(9

)

(7)

TRST SAREIT *RiY BF MFHIE TN o o

Name the oldest stock market in India.

i@ s = o

State the meaning of ‘narrow money’.

I Xa werel ARTR FEFA |

' (vrEmem)
Interest is the reward for pasting with
liquidity.

( Write True or False)

JPINF QA @ RpY
The commercial bank’s Balance Sheet is
divided into

() T
two parts

(i) wRo1 =
four parts

(i) FARET =
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three parts

(iv) <01 1l
five parts )
(% Taach! MR Boyean )

( Choose the correct answer )
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2. v G fort (R o wifkey) - 4x4=16

Write short notes on (any foun :

{a)
(b)
(c)

(d)

(e)

3. (@

(b)
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T SR

Money multiplier

o] REW ve9 AR
Financial sector reform in India

83 IE6 PF

Stock market index

IS i I 0% TR 14

Distinction between gross interest and
net interest

S oefere’ «ifReEe

Portfolio management

93 TR T AR Rz 7 R 2
Q@A YR 7R TR 8°Fs 3 g corem,
HICADA] 41 1 6+5=11
What are the determinants of the money
supply in an economy? Discuss how the
supply of money influences the general
price level.

w331/ Or
o1 A 3 g ? TR AR I 1 3+8=11

What is meant by money? Explain the .
functions of money.

( Continued )



(9)

4. (a) TE ITRA TAPER SRAGA TN TER
i A THEQ vl F90 | 6+6=12
Discuss on the components of money

market. Compare between money
market and capital market.

w4/ Or

(b) NBFI W7 f¥? NBFI FrfiEd I/ T
qfRre @ S NBFIE Sred 161 14 fors |
3+7+2=12
What is meant by NBFI? Explain the
functions of NBFL Mention two
differences between commercial bank
and NBFI.

5. (a) wWWWW|%W@
SEy 6+5=11

Explain the functions of a stock market.
Mention the significance of a stock
market.

welr/ Or
(b) v o P 6+5=11
Write short notes on :
() &3 TED PP oI I TAfS

Methodologies for calculating stock
market index

(i) RO 8F MEHT T

Defects of Indian stock market
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6. (a)

(b)

7. (a)

(b)
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(10 )

IR e Ot TR WA B2 TR TR Wi
SRR ST SEGCH! A T | 4+7=11
What is meant by term structure of
interest rates? Explain the expectation
theory of term structure of interest rates.

591/ Or

[ TR e R v i

3 | TRAART {RMOR T4 TR RfRw @3
NS I T ? 7+4=11
Explain the role of liquidity preference
theory in the determination of the rate of
interest. Does the liquidity preference
approach offer a satisfactory explanation

of the interest rate determination?

1 TR S TR AT %9 R
offer T T | AT AR 99 4B AR
Srrzers [ 77 . 7+4=11
Explain with the help of an example the
process of multiple credit creation by the
commercial banking system. What are
the limitations of credit creation
capacities of the commercial banks?

%1/ Or

41 fmgn @z B R B @
@REE TF o AToRRY ¥ FEgR e
T FE, WA ‘ 4+7=11
What are the measures of credit control?
Explain how and when the Central Bank
uses each measure to credit control.

( Continueq )
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Paper : GE-3 C
( Environmental Economics )

1. woe faERR RotTPR e f 1x8=8
Answer the following as directed :

(a) IR e il |
Define externalities.
() =8R RS I (MEC) T
Marginal External Cost (MEC) is
() MSC-MPC
(i) MSC+ MPC
(i) MSC + MSB
iv) MPB-MPC
(o= Yewh aifk Bfovear )
( Choose the correct answer )
(c) ‘Sl ST bl T a1

Give one example of common property

resource.
(@) SRR TR T YRAIDA T APRTS
@ TS CTHALTT SoeRfRe 2

In which year the sustainable
development concept of economics was
first forwarded in United Nations?
i) 1980 '
(i) 1987
(i) 1975
fiv) 1960
(o= YTt IR Bhovear )

( Choose the correct answer )
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(e) INAN STH WA eicenfive =
The Wildlife Protection Act is enacted in
i) 1971
(i) 1972
(iii) 1983
(iv) 1980
(o= Taveh1 AR et )
( Choose the correct answer )
() TG 90w ReE e
What is the main subject-matter of
Montreal Protocol?

(g) o SRR GG Sz i |

Give one example of pollution permit.

(h) ¥'& g3 9O faRme

Write one limitation of Coase theorem.

2. oo AP R @il siR6R eoRe 55 Grm B
(a2 150 =R fosve) ! 5x4=20

Write short notes on any four of the following
(within 150 words each) :

{a) & Rwerel

Market failure

(b) *RPE SR et TR
Strong and weak sustainability

22P/388 { Continued )



(13)

(c) IR I
Carbon trading

(d) R uF SRSt AEeTrd
Interlinkage between environment and
economy

fe) Prafeam ¥4
Pigouvian tax

(N T T T
Ozon layer depletion

SOl 2P Bad ot (2Tt 500 A fewe)
Answer the following questions (within 500 words
each) :

3. (a R 9@ P B @2 ARfiw
wfifr e wive RRa Rw w= som
S Sl 4 | 3+10=13
What is environmental economics?
Discuss the issues and problems related
to environmental economics,

e/ Or

(b) FoIRA SRS NIRRT e e
oifdra! oE TeE W, T | A TS T
Tgd FRRG 4% TVA S oz 4y 7 |

3+10=13
Show the problem of environmental
pollution as a result of common porperty
rights. Discuss its solution as explained
by Ronald Coase theorem.
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( 14 )

4. (a) THAAE (PP A J2 I REEN N
R 3 a1 | 13

Give an account on the environmental
policies undertaken in developing
countries.

wR{qT/ Or
(b) R@R P TP ToNe Sraes
SN ¥ | P e IR IR MG
T 40 10+3=13
Discuss the global environmental

problems with suitable example.
Mention three causes of global warming.

5. (o) *RERRRT 71 R &R B2 ¢ mha
Rfew PR & R0 9% BWROR Ry e
SPIRYFTR 3 74T | - 5+8=13
What is contingent valuation method?
What are the various stages of this

method? Explain the advantages and
disadvantages of this method.

=T/ Or

(b) R FUTR crare 379 IR$S 7 3PreeT
R ™ R TR Wfo TR 7w
A I 3+10=13
What do you mean by non-market
valuation of environmental valuation?

Explain the types and definitions of
these non-market valuations.
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6. (a)

()

(15)

T @ i | TR RSR SPETR
A 3+10=13

Define sustainability. Explain the
various indications of sustainability.

weqt/ Or

P HRFpTR TETEIOR (WY RGO
41 | & Tgq b MaRme o 10+3=13

Discuss the Pearch Atkinson approach
of measuring sustainability. Write three
limitations of this approach.

% %k
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